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 MEC-001  

MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2022 

 

MEC-001 : MICROECONOMIC ANALYSIS 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per 

instructions given.  

SECTION A 

Answer any two questions from this section. 220=40 

1. Consider an economy with two persons A and B, 

and two goods 1 and 2. The utility functions of 

the individuals are : 

 UA = x1A x2A; 

 UB = (x1B x2B + 5)2 

and the initial endowments of A and B are given 

to be : 

 WA = (6, 2) and WB = (2, 6). 

(a) Draw Edgeworth Box and show the initial 

endowment of the economy. 

(b) Find the set of Pareto-efficient allocations 

and show your result on the Edgeworth 

Box. 

(c) Find the competitive equilibrium of this 

economy.  
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2. A monopolist operates two plants : 1 and 2. The 

marginal costs of the two plants are given by  

360 – 14x – 2x2 and 310 – 15x – x2, with x 

representing units of output produced in each 

plant. If the price of this product is given by  

396 – 4x2, construct the overall marginal cost 

and determine profit maximising  output in each 

plant.  

3. (a) What do you understand by a pure public 

good ? 

(b) Suppose there are only two individuals in an 

economy. Their respective marginal 

valuation curves for a public good x are 

given by MVA = 100 – 2x and MVB = 25 – x. 

The marginal cost of providing the public 

good is given by MC = 100 + 2x. Find the 

socially efficient quantity of public goods.  

4. (a) Discuss the problem arising out of the 

presence of hidden action and hidden 

information. 

(b) Discuss the concepts of screening and 

signalling under asymmetric information. 
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SECTION B 

Answer any five questions from this section. 512=60 

5. Suppose there are two goods, consumption C 

with price = 1 and leisure R with price W = 8. 

The endowments of the two goods are given  

by C  = 0 and R  = 24. The utility function is  

U(C, R) = 2 log R + log C.  

 How much labour should be supplied and how 

much consumption chosen ?  

6. A representative household’s consumption in an 

economy is denoted by C0 and C1 for present and 

future consumption. The market rate of 

borrowing is given as 10%. Suppose the 

household has current wealth W0 = < 100 and 

future wealth W1 = 120. Determine the total 

present value of your wealth. 

7. Two firms are deciding simultaneously whether 

to enter a market. If neither enters, they make 

zero profits. If both enter, they make profit of – 1, 

since the market is too small for two firms. If 

only one enters, that firm makes high profits. 

Such a game is summarised in the following  

table :  

              Player 2 

 

Player 1 

Enter Do Not Enter 

Enter (–1, –1) (10, 0) 

Do Not Enter (0, 5) (0, 0) 

 What are the pure and mixed strategy Nash 

equilibrium of this game ?  
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8. Suppose Anita’s utility function is  

U = 
2/1

1000

Y








. Her initial income when healthy 

is < 36,000. However, there is a 50% chance that 

she will face financial loss on being taken ill and 

the income is likely to reduce by < 20,000. 

(a) Find the expected value of her income. 

(b) What expected utility will she have, given 

the possible state of her health ? 

(c) What is the risk premium she will be 

willing to pay to cover the risk of sickness ? 

9. Explain with a diagram the basic Williamson 

model of managerial discretion and show that the 

expenditure on staff is greater under this model 

as compared to profit maximisation. 

10. Would you prefer Pareto’s approach to welfare 

analysis over that of Pigou ? Why or why not ? 

Elaborate your viewpoint. 

11. Write notes on any two of the following : 

(a) Producer’s surplus and Consumer’s surplus 

(b) Second Welfare Theorem 

(c) Hotelling’s Lemma 

12. Evaluate Baumol’s model of alternative theory of 

firm. 
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 E_.B©.gr.-001  

E_.E. (AW©emñÌ) 

gÌm§V narjm 

OyZ,  2022 

 

E_.B©.gr.-001 : ì`{îQ> (gyú_) AW©emñÌr` {díbofU 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : {XE JE {ZX}emZwgma àË`oH$ IÊS> go àíZm| Ho$ CÎma Xr{OE &  

 
IÊS> H$ 

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE &  220=40  

1. _mZ br{OE {H$ EH$ AW©ì`dñWm _| A Ed§ B Xmo ì`{º$ h¢ 
Am¡a 1 Ed§ 2 Xmo dñVwE± h¢ & XmoZm| ì`{º$`m| Ho$ Cn`mo{JVm 
\$bZ {ZåZ{b{IV h¢ :  

 UA = x1A x2A; 

 UB = (x1B x2B + 5)2 

VWm A Ed§ B H$s àmW{_H$ Y_m©XmE± Bg àH$ma Xr JB© h¢ : 

 WA = (6, 2) Ed§ WB = (2, 6). 

(H$) EOdW© ~m°Šg ~ZmBE Am¡a AW©ì`dñWm H$s àmW{_H$ 
Y_m©Xm H$mo Xem©BE &  

(I) naoQ>mo-Xj Am~§Q>Z Ho$ g_wƒ` H$mo Imo{OE Am¡a EOdW© 
~m°Šg na AnZm n[aUm_ Xem©BE & 

(J) Bg AW©ì`dñWm Ho$ à{VñnYu g§VwbZ H$m nVm bJmBE & 
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2. EH$ EH$m{YH$madmXr Xmo H$maImZo 1 Ed§ 2 g§Mm{bV H$aVm 
h¡ & BZ XmoZm| H$maImZm| H$s gr_m§V bmJV  
360 – 14x – 2x2 Ed§ 310 – 15x – x2 h¡, Ohm± x àË òH$ 
H$maImZo Ho$ CËnmXZ H$s BH$mB`m| H$mo Xem©Vm h¡ & `{X Bg 
dñVw H$m _yë` 396 – 4x2 h¡, g_J« gr_m§V bmJV H$m 
{Z_m©U H$s{OE Am¡a àË`oH$ H$maImZo Ho$ bm^ H$mo A{YH$V_ 
H$aZo dmbo CËnmXZ H$m {ZYm©aU H$s{OE & 

3. (H$) {dewÕ gmd©O{ZH$ dñVw go Amn Š`m g_PVo h¢ ?  

(I) _mZ br{OE {H$ AW©ì`dñWm _| Ho$db Xmo ì`{º$ h¢ & 
BZ ì`{º$`m| H$s gmd©O{ZH$ dñVw x Ho$ {bE gr_m§V 
_yë`m§H$Z dH«$ h¢ : 

  MVA = 100 – 2x Ed§ MVB = 25 – x 

 gmd©O{ZH$ dñVw CnbãY H$amZo H$s gr_m§V bmJV 
MC = 100 + 2x h¡ & gmd©O{ZH$ dñVw H$s gm_m{OH$ 
ê$n go Hw$eb _mÌm H$m nVm bJmBE & 

4. (H$) {N>nr hþB© H$ma©dmB© Ed§ {N>nr hþB© OmZH$mar H$s 
CnpñW{V go CËnÞ hmoZo dmbr g_ñ`m na MMm© 
H$s{OE & 

(I) Ag_{_V OmZH$mar Ho$ VhV AdYmaUm ñH«$sqZJ Am¡a 
{g½ZqbJ na MMm© H$s{OE &  
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IÊS> I 

Bg IÊS> go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE &   512=60 

5. _mZ br{OE {H$ Xmo dñVwE± h¢, Cn^moJ C {OgH$m _yë` = 1 
h¡ Am¡a AdH$me R {OgH$m _yë` W = 8 h¡ & BZ Xmo 
dñVwAm| H$s Y_m©XmE± C  = 0 Ed§ R  = 24 h¢ & Cn`mo{JVm 
\$bZ h¡ : 
 U(C, R) = 2 log R + log C 

 {H$VZo l_ H$s Amny{V© H$s OmZr Mm{hE Am¡a {H$VZr InV 
H$m M`Z {H$`m OmZm Mm{hE ? 

6. EH$ AW©ì`dñWm _| EH$ à{V{Z{Y n[adma H$s InV H$mo 
dV©_mZ Am¡a ^{dî` H$s InV Ho$ {bE C0 Ed§ C1 Ûmam 
Xem©`m OmVm h¡ & CYma H$s ~mµOma Xa 10% Xr JB©  
h¡ & _mZ br{OE {H$ n[adma Ho$ nmg dV©_mZ g§n{Îm  
W0  = < 100 Ed§ ^{dî` g§n{Îm W1  = 120 h¡ & AnZr 
g§n{Îm H$m Hw$b dV©_mZ _yë` {ZYm©[aV H$s{OE & 

7. Xmo \$_] EH$ gmW {ZU©` bo ahr h¢ {H$ ~mµOma _| àdoe H$aZm 
h¡ `m Zht & `{X XmoZm| \$_© àdoe Z H$a|, Vmo CÝh| eyÝ` bm^ 
hmoJm & `{X XmoZm| ~mµOma _| àdoe H$aVr h¢, Vmo CÝh| –1 
bm^ hmoJm, Š`m|{H$ ~mµOma Xmo \$_m] Ho$ {bE ~hþV N>moQ>m h¡ & 
`{X Ho$db EH$ hr àdoe H$aVm h¡, Vmo dh \$_© Cƒ bm^ 
H$_mVr h¡ & Eogm Iob {ZåZ{b{IV Vm{bH$m _| g§jo{nV 
{H$`m J`m h¡ : 

         {Ibm‹S>r 2 

 

{Ibm‹S>r 1 
àdoe H$a| àdoe Z H$a| 

àdoe H$a| (–1, –1) (10, 0) 

àdoe Z H$a| (0, 5) (0, 0) 

 Bg Iob H$s ewÕ Am¡a {_{lV aUZr{V Z¡e g§VwbZ (Nash 

equilibrium) Š`m h¢ ?$ 
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8. _mZ br{OE AZrVm H$m Cn`mo{JVm \$bZ U = 
2/1

1000

Y







  

h¡ & ñdñW hmoZo na CgH$s àma§{^H$ Am` < 36,000 h¡ & 

hmbm±{H$, Bg ~mV H$s 50% g§^mdZm h¡ {H$ ~r_ma hmoZo na 

Cgo {dÎmr` ZwH$gmZ H$m gm_Zm H$aZm n‹S>oJm Am¡a Am` _|  

< 20,000 H$s H$_r hmoZo H$s g§^mdZm h¡ & 

(H$) CgH$s Am` H$m Ano{jV _yë` kmV H$s{OE & 

(I) Xr hþB© g§^m{dV ñdmñÏ` H$s pñW{V na, CgH$s 
àË`m{eV Cn`mo{JVm Š`m hmoJr ? 

(J) Bg ~r_mar Ho$ Omo{I_ H$mo H$da H$aZo Ho$ {bE dh 
{H$VZm Omo{I_ àr{_`_ XoZo H$mo V¡`ma hmoJr ?  

9. à~§YH$s` {ddoH$ Ho$ _yb {d{b`ågZ _m°S>b H$mo AmaoI Ho$ 
gmW g_PmBE Am¡a {XImBE {H$ bm^ H$mo A{YH$V_ H$aZo 
H$s VwbZm _| Bg _m°S>b Ho$ VhV H$_©Mm[a`m| na IM© 
A{YH$ h¡ & 

10. Š`m Amn H$ë`mU {díbofU Ho$ naoQ>mo Ñ{ï>H$moU H$mo nrJy go 
µÁ`mXm àYmZVm X|Jo ? Š`m| AWdm Š`m| Zht ? AnZo 
Ñ{ï>H$moU H$mo {dñV¥V H$s{OE & 

11. {ZåZ{b{IV _| go {H$Ýht Xmo  na {Q>ßn{U`m± {b{IE : 

(H$) {Z_m©Vm A{Yeof Ed§ Cn^moº$m A{Yeof 

(I) Xÿgam jo_H$mar {gÕm§V 

(J) hmoQ>qbJ H$m à_o` 

12. \$_© Ho$ d¡H$pënH$ {gÕm§V Ho$ ~m°_mob à{V_mZ H$m _yë`m§H$Z 
H$s{OE & 
 


